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What you will learn about:
Graphing Rational Functions
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Find the iintgr'cept(s) and y-intercept of each function.
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your answer graphically
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Find the domain of the function algebraically. Support
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Determine the range of the function
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Graph the function and tell whether or not the function
has a point of discontinuity at x=0. If thereisa
discontinuity, tell whether the discontinuity is removable
(Hole) or non-removeable (Vertical Asymptote).
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Reminder:
Sometimes a value
of x that seems to

be a vertical
asymptote is actually
a hole
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Find all horizontal and vertical asymptotes
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